
Math	
  230A,	
  Practice	
  Problems,	
  Assigned	
  9/17/10	
  

1.	
  	
  Write	
  detailed	
  proofs	
  of	
  Theorems	
  1.31	
  and	
  1.33.	
  
Theorem	
  1.31	
  	
  If	
  z	
  and	
  w	
  are	
  complex,	
  then	
  
(a)	
  

€ 

z+ w	
  =	
  

! 

z + w ,	
  
(b)	
  	
  

€ 

zw	
  =	
  

€ 

z • w ,	
   	
  
(c)	
  	
  z	
  +	
  

€ 

z =	
  2Re(z),	
  z	
  –	
  

€ 

z 	
  =	
  2i	
  Im(z),	
  
(d)	
  	
  z

€ 

z 	
  is	
  real	
  and	
  positive	
  (except	
  when	
  z	
  =	
  0).	
  
Proof:	
  

! 

z+ w	
  =	
  

! 

a+bi +c + di = a+c + (b+ d)i = a+c " (b+ d)i = a " bi +c " di=

€ 

z + w .	
  
(a)	
  If	
  z	
  and	
  w	
  are	
  complex,	
  then	
  z	
  =	
  a	
  +	
  bi	
  and	
  w	
  =	
  c	
  +	
  di	
  for	
  some	
  a,	
  b,	
  c,	
  d	
  ! 	
  R.	
  
(b)	
  

€ 

zw 	
  =

! 

(a+bi)(c + di) = ac " bd+(ad+bc)i = ac " bdÐ(ad+bc)i = (a " bi)(c " di)=	
  

€ 

z • w ,	
  
(c)	
  z	
  +	
  

€ 

z =	
  a	
  +	
  bi	
  +	
  a	
  –	
  bi	
  =	
  2a	
  =	
  2Re(z),	
  and	
  z	
  –	
  

! 

z 	
  =	
  a	
  +	
  bi	
  –	
  (a	
  –	
  bi)	
  =	
  2ib	
  =	
  2i	
  Im(z),	
  
(d)	
  z

€ 

z 	
  =	
  (a	
  +	
  bi)(a	
  –	
  bi)	
  =	
  a2	
  +	
  b2	
  >0	
  when	
  a	
  and	
  b	
  are	
  not	
  both	
  0.	
  
	
  
Theorem	
  1.33	
  	
  Let	
  z	
  and	
  w	
  be	
  complex	
  numbers.	
  	
  Then	
  
(a)	
  	
  |z|	
  >	
  0	
  unless	
  z	
  =	
  0,	
  |0|	
  =	
  0,	
  
(b)	
  	
  |

€ 

z |	
  =	
  |z|,	
  
(c)	
  	
  |zw|	
  =	
  |z||w|,	
  
(d)	
  	
  |Re	
  z|	
  ≤	
  |z|,	
  
(e)	
  	
  |z	
  +	
  w|	
  ≤	
  |z|	
  +	
  |w|.	
  
Proof:	
  
(a)	
  Suppose	
  z	
  =	
  a	
  +	
  bi	
  and	
  w	
  =	
  c	
  +	
  di	
  for	
  some	
  a,	
  b,	
  c,	
  d	
  ! 	
  R.	
  
Then	
  |z|	
  =	
  [(a	
  +	
  bi)(a	
  –	
  bi)]1/2	
  =	
  (a2	
  +	
  b2)1/2	
  >	
  0	
  order	
  axioms.	
  
And	
  |0|	
  =	
  [(0	
  +	
  0i)(0	
  –	
  0i)]1/2	
  =	
  01/2	
  =	
  0	
  by	
  properties	
  of	
  0	
  ! 	
  R.	
  
(b)	
  |

! 

z |	
  =	
  |a	
  –	
  bi|	
  =	
  [(a	
  –	
  bi)(a	
  +	
  bi)]1/2	
  =	
  |a	
  +	
  bi|	
  =	
  |z|.	
  
(c)	
  	
  |zw|=	
  |(a	
  +	
  bi)(c	
  +	
  di)|	
  	
  
	
   =	
  |ac	
  –	
  bd	
  +	
  (ad	
  +	
  bc)i|	
  	
  
	
   =	
  [(ac	
  –	
  bd)2	
  +	
  (ad	
  +	
  bc)2]1/2	
  	
  
	
   =	
  [(ac)2	
  –	
  2acbd	
  +	
  (bd)2	
  +	
  (ad)2	
  +	
  2adbc	
  +	
  (bc)2]1/2	
  	
  
	
   =	
  [(ac)2	
  +	
  (bd)2	
  +	
  (ad)2	
  +	
  (bc)2]1/2	
  	
  
	
   =	
  [(a2	
  +	
  b2)(c2	
  +	
  d2)]1/2	
  	
  
	
   =	
  (a2	
  +	
  b2)1/2	
  •	
  (c2	
  +	
  d2)1/2	
  =	
  |z||w|,	
  by	
  uniqueness	
  assertion	
  of	
  Thm	
  1.21.	
  
(d)	
  	
  |Re	
  z|	
  =	
  |a	
  +	
  0i|	
  =	
  [(a	
  +	
  0i)(a	
  –	
  0i)]1/2	
  =	
  [a2]1/2	
  ≤	
  [a2	
  +	
  b2]1/2	
  =	
  |z|.	
  
(e)	
  |z	
  +	
  w|	
  =	
  [(z	
  +	
  w)(	
  

€ 

z + w )]1/2	
  by	
  Thm	
  1.31	
  (a),	
  
	
   =	
  [z

€ 

z 	
  +	
  z

€ 

w 	
  +	
  w

€ 

z 	
  +	
  w

€ 

w ]1/2	
  	
  
	
   =	
  [|z|2	
  +	
  (a	
  +	
  bi)(c	
  –	
  di)	
  +	
  (c	
  +	
  di)(a	
  –	
  bi)	
  +	
  |w|2]1/2	
  by	
  definition	
  |z|,	
  
	
   =	
  [|z|2	
  +	
  ac	
  +	
  bd	
  +	
  (bd	
  –	
  ad)i	
  +	
  ac	
  +	
  bd	
  +	
  (ad	
  –	
  bc)i	
  +	
  |w|2]1/2,	
  
	
   =	
  [|z|2	
  +	
  2(ac	
  +	
  bd)	
  +	
  |w|2]1/2,	
  
	
   ≤	
  [|z|2	
  +	
  2[(ac	
  +	
  bd)2	
  +	
  (bd	
  –	
  ad)2]1/2	
  +	
  |w|2]1/2,	
  
	
   =	
  [|z|2	
  +	
  2|	
  z

€ 

w |	
  +	
  |w|2]1/2,	
  
	
   =	
  [|z|2	
  +	
  2|z||w|	
  +	
  |w|2]1/2,	
  by	
  parts	
  (b)	
  and	
  (c)	
  
	
   =	
  [(|z|	
  +	
  |w|)2]1/2,	
  
	
   =	
  |z|	
  +	
  |w|	
  by	
  uniqueness	
  assertion	
  of	
  Thm	
  1.21.	
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2.	
  	
  Read	
  Definition	
  1.36	
  of	
  the	
  vector	
  space	
  Rn.	
  	
  Write	
  detailed	
  proof	
  of	
  Theorem	
  1.37.	
  
Theorem	
  1.37	
  	
  Suppose	
  x,	
  y,	
  z	
  ! 	
  Rk,	
  and	
  " 	
  is	
  real.	
  	
  Then	
  
(a)	
  	
  |x|	
  ≥	
  0;	
  
(b)	
  	
  |x|	
  =	
  0	
  if	
  and	
  only	
  if	
  x	
  =	
  0;	
  
(c)	
  	
  |" x|	
  =	
  |" ||x|;	
  
(d)	
  	
  |x	
  •	
  y|	
  ≤	
  |x|	
  •	
  |y|;	
  
(e)	
  	
  |x	
  +	
  y|	
  ≤	
  |x|	
  +	
  |y|;	
  
(f)	
  	
  |x	
  –	
  y|	
  ≤	
  |x	
  –	
  y|	
  +	
  |y	
  –	
  z|.	
  
Proof:	
  

(a)	
  |x|	
  =	
  

€ 

xi
2

1

k

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

1/ 2

≥	
  0	
  as	
  (xi)2	
  ≥	
  0	
  for	
  each	
  i.	
  

(b)	
  	
  # :	
  	
  If	
  |x|	
  =	
  0,	
  then	
  

€ 

xi
2

1

k

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

1/ 2

=	
  0.	
  	
  	
  

Since	
  (xi)2	
  ≥	
  0	
  for	
  each	
  i,	
  then	
  

€ 

xi
2

1

k

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

1/ 2

=	
  0	
  # 	
  (xi)2	
  =	
  0	
  for	
  each	
  i,	
  hence	
  x	
  =	
  0.	
  

$ :	
  	
  If	
  x	
  =	
  0,	
  then	
  xi	
  =	
  0	
  for	
  each	
  i,	
  hence	
  

! 

xi
2

1

k

"
# 

$ 
% 

& 

' 
( 

1/ 2

=	
  0.	
  

(c)	
  |" x|	
  =	
  

€ 

αxi( )2
1

k

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

1/ 2

=	
  

€ 

α xi
2

1

k

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

1/ 2

=	
  |" ||x|.	
  

(d)	
  |x	
  •	
  y|	
  =	
  

! 

xi yi
i=1

k

" ,	
  |x|	
  =	
  

! 

xi
2

1

k

"
# 

$ 
% 

& 

' 
( 

1/ 2

,	
  and	
  |y|	
  =	
  

€ 

yi
2

1

k

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

1/ 2

.	
  

We	
  note	
  that	
  for	
  each	
  i,	
  	
  

€ 

xi

x
−

yi

y

⎡ 

⎣ 
⎢ 

⎤ 

⎦ 
⎥ 

2

=
xi

x

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

2

−2
xi

x

yi

y
+

yi

y

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

2

≥0,	
  hence	
  

! 

xi

x

" 

# 
$ 

% 

& 
' 

2

+
yi

y

" 

# 
$ 

% 

& 
' 

2

( 2
xi

x

yi

y
.	
  

So	
  then	
  	
  

€ 

2
x y

xi yi
i =1

n

∑ = 2
xi

xi =1

n

∑ yi

y
≤

xi

x

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

2

+
yi

y

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

2⎡ 

⎣ 
⎢ 
⎢ 

⎤ 

⎦ 
⎥ 
⎥ i =1

n

∑ 	
  =	
  

! 

1

x 2 xi
2

i=1

n

" +
1

y 2 yi
2

i=1

n

" =
x 2

x 2 +
y 2

y 2 = 2.	
  	
  	
  

€ 

xiyi
i=1

n

∑ 	
  ≤	
  |x||y|.	
  By	
  the	
  triangle	
  inequality	
  we	
  have	
  |x	
  •	
  y|	
  =	
  

! 

xi yi
i=1

n

" ≤	
  

€ 

xi yi
i =1

n

∑ ≤	
  |x||y|.	
  

(e)	
  |x	
  +	
  y|	
  =	
  [(x	
  +	
  y)(	
  x	
  +	
  y)]1/2	
  =	
  

! 

xi + yi( )2
i=1

n"( )
1/ 2

=

! 

xi
2 +2xiyi + yi

2

i=1

n"( )
1/ 2

	
  

=	
  

! 

xi
2

i=1

n" +2 xi yii=1

n" + yi
2

i=1

n"( )
1/ 2

=	
  

€ 

x 2
+ x • y + y

2( )
1/ 2
≤	
  

€ 

x 2
+ x ¥ y + y 2( )

1/ 2

	
  

=	
  

€ 

x + y( )2( )
1/ 2

=	
  |x|	
  +	
  |y|.	
  

	
  
(f)	
  	
  Let	
  x'	
  =	
  x	
  –	
  y,	
  and	
  let	
  y'	
  =	
  y	
  –	
  z.	
  	
  Then	
  by	
  part	
  (e)	
  we	
  have	
  	
  
|x'	
  +	
  y'|	
  ≤	
  |x'|	
  +	
  |y'|,	
  hence|x	
  –	
  y	
  +	
  y	
  –	
  z	
  |	
  =	
  |x	
  –	
  z	
  |	
  ≤	
  |x	
  –	
  y|	
  +	
  |y	
  –	
  z|.	
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3.	
  	
  Repeat	
  Ex.	
  2	
  for	
  Cn.	
  	
  Note	
  z	
  •	
  v	
  =	
  

€ 

zi ¥v i
i=1

n

∑ 	
  and	
  |z|	
  =	
  

€ 

zi
2

i=1

n

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

1/ 2

.	
  

Proof:	
  
Suppose	
  x,	
  y,	
  z	
  ! 	
  Cn,	
  and	
  " 	
  is	
  real.	
  	
  Then	
  
(a)	
  	
  |x|	
  ≥	
  0;	
  
(b)	
  	
  |x|	
  =	
  0	
  if	
  and	
  only	
  if	
  x	
  =	
  0;	
  
(c)	
  	
  |" x|	
  =	
  |" ||x|;	
  
(d)	
  	
  |x	
  •	
  y|	
  ≤	
  |x|	
  •	
  |y|;	
  
(e)	
  	
  |x	
  +	
  y|	
  ≤	
  |x|	
  +	
  |y|;	
  
(f)	
  	
  |x	
  –	
  y|	
  ≤	
  |x	
  –	
  y|	
  +	
  |y	
  –	
  z|.	
  
Proof:	
  

(a)	
  |x|	
  =	
  

! 

xi x i
1

k

"
# 

$ 
% 

& 

' 
( 

1/ 2

	
  =	
  

! 

xi
2

1

k

"
# 

$ 
% 

& 

' 
( 

1/ 2

≥	
  0	
  as	
  |xi|2	
  ≥	
  0	
  for	
  each	
  i.	
  

(b)	
  	
  # :	
  	
  If	
  |x|	
  =	
  0,	
  then	
  

€ 

xi

2

1

k

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

1/ 2

=	
  0.	
  	
  	
  

Since	
  (xi)2	
  ≥	
  0	
  for	
  each	
  i,	
  then	
  

€ 

xi

2

1

k

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

1/ 2

=	
  0	
  # 	
  |xi|2	
  =	
  0	
  for	
  each	
  i,	
  hence	
  x	
  =	
  0.	
  

$ :	
  	
  If	
  x	
  =	
  0,	
  then	
  xi	
  =	
  0	
  for	
  each	
  i,	
  hence	
  

€ 

xi

2

1

k

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

1/ 2

=	
  0.	
  

(c)	
  |" x|	
  =	
  

! 

" xi
2

1

k

#
$ 

% 
& 

' 

( 
) 

1/ 2

=	
  

! 

" xi
2

1

k

#
$ 

% 
& 

' 

( 
) 

1/ 2

=	
  |" ||x|.	
  

(d)	
  |x	
  •	
  y|	
  =	
  

! 

xiy i
i=1

k

" ,	
  |x|	
  =	
  

! 

xi

2

1

k

"
# 

$ 
% 

& 

' 
( 

1/ 2

,	
  and	
  |y|	
  =	
  

! 

y i
2

1

k

"
# 

$ 
% 

& 

' 
( 

1/ 2

	
  =	
  

! 

yi
2

1

k

"
# 

$ 
% 

& 

' 
( 

1/ 2

.	
  

By	
  the	
  Cauchy	
  Schwartz	
  Inequality	
  we	
  have	
  

€ 

xiy i
i=1

k

∑
2

	
  ≤	
  

€ 

xi
2

1

k

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ •	
  

€ 

yi

2

1

k

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ .	
  	
  	
  

So	
  taking	
  the	
  square	
  root	
  of	
  both	
  sides,	
  we	
  have	
  	
  

|x	
  •	
  y|	
  =	
  

€ 

xi y i
i =1

k

∑ 	
  ≤	
  

€ 

xi
2

1

k

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

1/ 2

•

€ 

yi

2

1

k

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

1/ 2

=	
  |x|	
  |y|	
  .	
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3.	
  (e)	
  |x	
  +	
  y|	
  =	
  [(x	
  +	
  y)(	
  x	
  +	
  y)]1/2	
  	
  

	
   =	
  

! 

xi + yi( ) xi + yi( )
i=1

n"( )
1/ 2

	
  

	
  
=	
  

€ 

xi + yi( ) x i + y i( )
i=1

n
∑( )

1/ 2

	
  

	
   =

€ 

xi

2
+ xi y i + x i yi + yi

2

i =1

n

∑( )
1/ 2

	
  

	
   =	
  

! 

xi
2
+2Re(xiy i) + yi

2

i=1

n"( )
1/ 2

	
  

	
   ≤	
  

! 

xi

2
+2 xi y i + yi

2

i=1

n"( )
1/ 2

	
  

	
   =

! 

xi
2

i=1

n" +2 xiy ii=1

n" + y i
2

i=1

n"# 
$ 
% & 

' 
( 
1/ 2

	
  

	
  
=	
  

€ 

x 2
+ 2 x • y + y

2( )
1/ 2

	
  

	
   ≤	
  

€ 

x 2
+ 2x ¥y + y 2( )

1/ 2

	
  	
  	
  by	
  part	
  (d)	
  	
  

	
   =	
  

€ 

x + y( )2( )
1/ 2

=	
  |x|	
  +	
  |y|.	
  

	
  
(f)	
  	
  Let	
  x'	
  =	
  x	
  –	
  y,	
  and	
  let	
  y'	
  =	
  y	
  –	
  z.	
  	
  Then	
  by	
  part	
  (e)	
  we	
  have	
  	
  
|x'	
  +	
  y'|	
  ≤	
  |x'|	
  +	
  |y'|,	
  hence|x	
  –	
  y	
  +	
  y	
  –	
  z	
  |	
  =	
  |x	
  –	
  z	
  |	
  ≤	
  |x	
  –	
  y|	
  +	
  |y	
  –	
  z|.	
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4.	
  	
  In	
  the	
  previous	
  exercises	
  the	
  norm	
  of	
  a	
  vector	
  is	
  defined	
  by	
  an	
  inner	
  product.	
  	
  We	
  can	
  define	
  
norms	
  in	
  Rn	
  (or	
  Cn)	
  without	
  the	
  use	
  of	
  an	
  inner	
  product,	
  as	
  a	
  function	
  "•":	
  Rn	
  % 	
  [0,	
  +∞)	
  with	
  the	
  
properties	
  (a),	
  (b),	
  (c),	
  and	
  (e)	
  from	
  Theorem	
  1.37.	
  
Example:	
  	
  Consider	
  an	
  arbitrary,	
  but	
  fixed	
  p	
  ≥	
  1.	
  	
  	
  

Define	
  |x|p	
  =	
  

€ 

xi
p

i=1

n

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

1/ p

,	
  for	
  x	
  =	
  (x1,	
  ...,	
  xn)	
  ! 	
  Cn.	
  	
  Show	
  that	
  |x|p	
  has	
  the	
  properties	
  (a),	
  (b),	
  (c),	
  (e).	
  

Hint:	
  	
  For	
  (e)	
  first	
  prove	
  that	
  

! 

xi yi
i=1

n

" 	
  ≤	
  

€ 

xi

p

i =1

n

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

1/ p

¥ yi

q

i =1

n

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

1/ q

	
  where	
  1/p	
  +	
  1/q	
  =	
  1.	
  	
  This	
  is	
  

called	
  the	
  Holder	
  inequality.	
  
Remark:	
  	
  Property	
  (e)	
  is	
  called	
  the	
  Minkowski	
  inequality	
  and	
  looks	
  like	
  	
  

! 

xi + yi
p

i=1

n

"
# 

$ 
% 

& 

' 
( 

1/ p

≤

! 

xi

p

i=1

n

"
# 

$ 
% 

& 

' 
( 

1/ p

+

! 

yi

p

i=1

n

"
# 

$ 
% 

& 

' 
( 

1/ p

.	
  

(a)	
  	
  |x|p	
  ≥	
  0;	
  
(b)	
  	
  |x|p	
  =	
  0	
  if	
  and	
  only	
  if	
  x	
  =	
  0;	
  
(c)	
  	
  |" x|p	
  =	
  |" ||x|p;	
  
(e)	
  	
  |x	
  +	
  y|p	
  ≤	
  |x|p	
  +	
  |y|p;	
  

Proof:	
  

(a)	
  	
  |x|p	
  =	
  

€ 

xi

p

i =1

n

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

1/ p

	
  ≥	
  0	
  as	
  |xi|p	
  ≥	
  0	
  for	
  each	
  i.	
  

(b)	
  	
  Assume	
  |x|p	
  =	
  

! 

xi
p

i=1

n

"
# 

$ 
% 

& 

' 
( 

1/ p

=	
  0.	
  	
  Since	
  |xi|p	
  ≥	
  0	
  for	
  each	
  i,	
  then	
  |xi|p	
  =	
  0	
  for	
  each	
  i.	
  

Assume	
  x	
  =	
  0.	
  	
  Then	
  |xi|p	
  =	
  0	
  for	
  each	
  i	
  which	
  implies	
  0	
  =	
  

€ 

xi
p

i=1

n

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

1/ p

=	
  |x|p.	
  

(c)	
  	
  |" x|p	
  =	
  

€ 

αxi

p

i =1

n

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

1/ p

= α p xi

p

i =1

n

∑
⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

1/ p

=	
  |" ||x|p.	
  

(e):

€ 

xi + yi

p

i =1

n

∑ =	
  

€ 

xi + yi xi + yi

p−1

i =1

n

∑ 	
  

≤

! 

( xi + yi ) xi + yi
p "1

i=1

n# 	
  by	
  the	
  triangle	
  inequality	
  

=

€ 

xi xi + yi
p−1

+ yi xi + yi
p−1

i=1

n
∑

i=1

n
∑ 	
  

≤

€ 

xi
p

i=1

n
∑( )

1/ p

¥ xi + yi
p−1( )q

i=1

n
∑( )

1/ q

+ yi
p

i=1

n
∑( )

1/ p

¥ xi + yi
p−1( )q

i=1

n
∑( )

1/ q
	
  

by	
  the	
  Hölder	
  Inequality.	
  

Note	
  that	
  

! 

1
p

+
1
q

=1	
  # 	
  

€ 

1
q

=
p−1

p
	
  # 	
  

! 

q¥
1
q

= q¥
p " 1
p

	
  # 	
  p	
  =	
  q(p	
  –	
  1).	
  	
  Thus	
  we	
  have,	
  

! 

xi + yi

p

i=1

n" ≤

€ 

xi + yi

p

i =1

n

∑( )
1/ q

xi

p

i =1

n

∑( )
1/ p

+ yi

p

i =1

n

∑( )
1/ p⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 	
  ≤	
  

€ 

xi + yi

p

i =1

n

∑( )
1/ q

x p + y
p( ) .	
  

So	
  then	
  |x	
  +	
  y|p	
  =	
  

€ 

xi + yi
p

i=1

n
∑( )

1/ p

=

€ 

xi + yi

p

i =1

n

∑( )
1−1/ q

	
  ≤	
  

! 

x p + y
p
.	
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5.	
  	
  One	
  way	
  to	
  prove	
  Holder's	
  inequality	
  is	
  to	
  use	
  Young's	
  inequality:	
  

ab	
  ≤	
  

! 

ap

p
+

bq

q
,	
  &	
  a,	
  b	
  ≥	
  0	
  and	
  

€ 

1
p

+
1
q
	
  =	
  1.	
  	
  	
  Prove	
  Young's	
  inequality.	
  

Proof:	
  
	
  
If	
  a	
  =	
  0	
  or	
  b	
  =	
  0,	
  the	
  result	
  is	
  trivially	
  true.	
  	
  Assume	
  a	
  ≠	
  0	
  and	
  b	
  ≠	
  0.	
  
Consider	
  the	
  concave	
  function	
  f	
  (x)	
  =	
  ln	
  x.	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
Note	
  that	
  (a,	
  f	
  (a))	
  and	
  (b,	
  f	
  (b))	
  lie	
  on	
  the	
  line	
  with	
  the	
  equation	
  

g(x)	
  =	
  

€ 

f (b) − f (a)
b − a

x +
bf (a) − af (b)

b − a
	
  =	
  

€ 

(x − a) f (b) + (b− x) f (a)
b− a

.	
  

And	
  for	
  0	
  <	
  ' 	
  <	
  1,	
  	
  

	
  g(' a	
  +	
  (1-­‐' )b)	
  =	
  

! 

(" a+(1# " )b # a) f (b) + (b #[" a+(1# " )b]) f (a)
b # a

	
  

=	
  

€ 

(λ –1)(b− a) f (b) + λ(b− a) f (a)
b− a

	
  =	
  ' f	
  (a)	
  +	
  (1	
  –	
  ' )f	
  (b).	
  

Since	
  f	
  (x)	
  =	
  ln	
  x	
  is	
  concave,	
  then	
  f(' a	
  +	
  (1-­‐' )b)	
  ≥	
  ' f	
  (a)	
  +	
  (1	
  –	
  ' )f	
  (b).	
  

Since	
  a,	
  b	
  >	
  0,	
  then	
  ap,	
  bq	
  >	
  0.	
  Thus,	
  f(' ap	
  +	
  (1-­‐' )bq)	
  ≥	
  ' f	
  (ap)	
  +	
  (1	
  –	
  ' )f	
  (bq).	
  

Note	
  that	
  equality	
  holds	
  if	
  and	
  only	
  if	
  ap	
  =	
  bq,	
  for	
  	
  

f(' ap	
  +	
  (1-­‐' )ap)	
  =	
  f	
  (ap)	
  =	
  	
  ' f	
  (ap)	
  +	
  (1	
  –	
  ' )f	
  (ap).	
  

If	
  ' 	
  =	
  1/p,	
  then	
  1	
  –	
  ' 	
  =	
  1/q	
  and	
  

ln(

! 

ap

p
+

bq

q
)	
  =	
  ln(

€ 

λap + (1− λ)bq )	
  ≥	
  ' ln	
  ap	
  +	
  (1	
  –	
  ' )ln	
  bq	
  	
  

=	
  (1/p)ln	
  ap	
  +	
  (1/q)ln	
  bq	
  =	
  ln	
  a	
  +	
  ln	
  b	
  =	
  ln	
  ab.	
  

( 	
  	
  

€ 

ap

p
+
bq

q
≥	
  ab.	
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6.	
  	
  Show	
  that	
  |x|p	
  satisfies	
  the	
  parallelogram	
  identity	
  from	
  Exercise	
  17/Chapter	
  1	
  if	
  
and	
  only	
  if	
  p	
  =	
  2.	
  
Proof:	
  
Let	
  p	
  =	
  2.	
  

(|x	
  +	
  y|2)2+	
  (|x	
  –	
  y|2)2	
  =

! 

xi + yi
2

i=1

n

"
# 

$ 
% 

& 

' 
( 

1/ 2# 

$ 
% 
% 

& 

' 
( 
( 

2

+	
  

! 

xi " yi

2
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n

#
$ 

% 
& 

' 

( 
) 

1/ 2$ 

% 
& 
& 

' 

( 
) 
) 

2

	
  

	
   	
   	
   =	
  

€ 

xi + yi
2

i=1

n

∑ +

€ 

xi − yi

2

i =1

n

∑ .	
  

	
   	
   	
   =	
  

! 

xi + yi( )2

i=1

n

" +

€ 

xi − yi( )2

i =1

n

∑ .	
  

	
   	
   	
   =	
  

! 

xi
2 +2xi yi + yi

2( )
i=1

n

" 	
  +	
  

! 

xi
2 " 2xi yi + yi

2( )
i=1

n

# .	
  

	
   	
   	
   =	
  2

€ 

xi
2

i=1

n

∑ +	
  	
  2

! 

yi

2

i=1

n

" .	
  

	
   	
   	
   =	
  2|x|22	
  +	
  2|y|22.	
  
	
  
Conversely,	
  suppose	
  (|x	
  +	
  y|p)2+	
  (|x	
  –	
  y|p)2	
  =	
  2|x|p2	
  +	
  2|y|p2	
  for	
  some	
  p	
  >	
  1.	
  
Note	
  this	
  is	
  true	
  for	
  all	
  x,	
  y	
  ! 	
  Rn.	
  	
  Consider	
  the	
  case	
  in	
  which	
  x	
  =	
  (1,	
  1,	
  0,	
  0,	
  0,	
  ...)	
  
and	
  y	
  =	
  (1,	
  –1,	
  0,	
  0,	
  0,	
  ...).	
  	
  Then	
  	
  
8	
  =	
  ((2)p)1/p)2	
  +	
  ((2)p)1/p)2	
  

=
  

€ 

1+1 p + 1−1 p + 0 + 0 p
+ 0 + 0 p

+( )
1/ p⎛ 

⎝ 
⎜ ⎞ 

⎠ 
⎟ 
2

	
  +	
  
  

! 

1" 1p + 1+1p + 0+0 p + 0+0 p +( )1/ p# 
$ 
% & 

' 
( 

2

=	
  (|x	
  +	
  y|p)2+	
  (|x	
  –	
  y|p)2	
  =	
  2|x|p2	
  +	
  2|y|p2	
  	
  

=	
  2
  

! 

1 p + 1 p + 0 p + 0 p +!( )1/ p" 
# 
$ % 

& 
' 
2

+	
  2
  

€ 

1 p
+ −1 p

+ 0 p
+ 0 p

+( )
1/ p⎛ 

⎝ 
⎜ ⎞ 

⎠ 
⎟ 
2

=	
  

=	
  2((2)1/p)2	
  +	
  2((2)1/p)2	
  =	
  	
  4(2)2/p.	
  	
  
And	
  we	
  have	
  8	
  =	
  4(2)2/p	
  # 	
  2	
  =	
  22/p	
  # 	
  2p	
  =	
  (22/p)p	
  =	
  22	
  # 	
  p	
  =	
  2.	
  
	
  	
  	
  
7.	
  	
  Define	
  |x|∞	
  =	
  max1≤i≤n|xi|,	
  for	
  x	
  ! 	
  Rn	
  (or	
  Cn).	
  	
  Prove	
  that	
  |x|∞	
  satisfies	
  the	
  properties	
  of	
  the	
  norm.	
  
(a)	
  	
  |x|∞	
  ≥	
  0	
  
(b)	
  	
  |x|∞	
  =	
  0	
  if	
  and	
  only	
  if	
  x	
  =	
  0	
  
(c)	
  	
  |" x|∞	
  =	
  |" ||x|∞	
  
(e)	
  	
  |x	
  +	
  y|∞	
  ≤	
  |x|∞	
  +	
  |y|∞	
  

Proof:	
  
(a)	
  |x|∞	
  =	
  max1≤i≤n|xi|	
  ≥	
  0	
  as	
  |xi|	
  ≥	
  0	
  for	
  each	
  i.	
  
(b)	
  	
  If	
  |x|∞	
  =	
  max1≤i≤n|xi|	
  =	
  0,	
  then	
  since	
  |xi|	
  ≥	
  0	
  for	
  each	
  i	
  we	
  have	
  |xi|	
  =	
  0	
  for	
  each	
  i.	
  
	
  	
  	
  	
  	
  	
  	
  	
  If	
  x	
  =	
  0,	
  then	
  |xi|	
  =	
  0	
  for	
  each	
  i,	
  hence	
  |x|∞	
  =	
  max1≤i≤n|xi|	
  =	
  0.	
  
(c)	
  |" x|∞	
  =	
  max1≤i≤n|" xi|	
  =	
  |" |	
  •	
  max1≤i≤n|xi|	
  =	
  |" ||x|∞.	
  
(e)	
  	
  	
  	
  	
  |x	
  +	
  y|∞	
  	
  =	
  max1≤i≤n|xi	
  +	
  yi|	
  	
  
	
   	
   ≤	
  max1≤i≤n(|xi|	
  +	
  |yi|)	
  	
  
	
   	
   =	
  max1≤i≤n|xi|	
  +	
  max1≤i≤n	
  |yi|	
  	
  
	
   	
   =	
  	
  |x|∞	
  +	
  |y|∞.	
  


